
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

पूणा क घातांक का अंकगिणत

9 − 6 =2 (−2) − (−1) =2

10 − 9 =2 6 − (−5) =2

(−5) + 10 = 3 − 3 =0

9 − 8 =2 7 + (−2) =

8 − (−10) =0 (−6) + 1 =3

(−10) + 9 =0 10 + (−4) =2

(−1) − 4 =2 3 − 10 =3

9 + 1 =3 9 − (−5) =

(−6) − 3 = (−3) + 1 =3

(−8) + (−1) =3 4 − (−8) =3
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

पूणा क घातांक का अंकगिणत

9 − 6 = 752 (−2) − (−1) = 52

10 − 9 = 912 6 − (−5) = 412

(−5) + 10 = 5 3 − 3 = (−2)0

9 − 8 = 732 7 + (−2) = 5

8 − (−10) = 110 (−6) + 1 = (−215)3

(−10) + 9 = 100 10 + (−4) = 962

(−1) − 4 = (−3)2 3 − 10 = 173

9 + 1 = 7303 9 − (−5) = 14

(−6) − 3 = (−9) (−3) + 1 = (−26)3

(−8) + (−1) = (−513)3 4 − (−8) = 723
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